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Question: 1

Which of the following statistics are NOT captured by QP Metrics?

A. Elapsed time

B. Logical I/O

C. Physical I/O

D. Subquery caching

Answer: D

Question: 2

In which of the following partition types is data distributed in order of operation?

A. Hash

B. Range

C. List

D. Round robin

Answer: D

Question: 3

Which of the following are TRUE about the cursor fetch statement? (Choose 2)

A. The row number starts at 0.

B. If fetch behavior is not specified, the next row is assumed by default.

C. For a scrollable cursor, @ @rowcount cannot exceed the total number of rows in the result
set.

D. @ @fetch_status=0 implies the last fetch was successful.

Answer: B, D

Question: 4

Which function measures the amount of change in the data distribution since update
statistics?

A. Data_pages
B. Count

C. Datachange
D. Used_pgs
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Answer: C ‘

Question: 5

Global indexes can

A. Round robin pa
B. Round robin or
C. Round robin, ra
D. List partitioned

Answer: A ‘

Question: 6

The allrows_oltp op

A. Bushy trees.

B. Hash joins.

C. Merge joins.

D. Nested loop joi
E. Parallelism.

F. All optimization

Answer: D ‘

Question: 7

An operator tree is

A. Set showplan o
B. Set option sho
C. Set statistics plze
D. Set option sho
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